


1 Choose a modal verb which has the closest
meaning to the verb in bold. Choose the correct
answer: A, Bor C.

1 You don’t have to wake up early tomorrow.

A mustn't B oughtn't C needn't
2 | should calm down before | call Josh.
A ought to B needto C ought
3 I'm not allowed to binge-watch TV shows.
A neednt B donthaveto C mustn't
4 They don't need to do the washing up tonight.
A mustn't B needn't C oughtntto

5 | know Chloe often asks you for a ride home, but in
my opinion, you shouldn’t give in.
A oughtnot B oughtnotto C oughtto not

2 Choose the correct alternative.

1 Xavier hasn't said anything today. He should /
must be worried about his exams.

2 | don't know her well, but | think she might /
should be a little spoilt.

3 Let's wait for Tom and Nicole. They will be able
to / should be back in an hour,

4 It’s late! We can / may not have enough time to
visit the whole museum.

5 There will be able to / can be traffic jams at this
time of the day.



